




T20P
(Question Practice)



“focus on economic development” is written as 
“vl no py su”
“greater growth more development” is written 
as “wr ea vl om”
“more focus is important” is written as “su ta nx
ea”
“economic growth is important” is written as “ta 
py om nx”

What is the code for 'economic‘

a) No
b) Py
c) Nx
d) Ta
e) su



“focus on economic development” is written as 
“vl no py su”
“greater growth more development” is written 
as “wr ea vl om”
“more focus is important” is written as “su ta nx
ea”
“economic growth is important” is written as “ta 
py om nx”

'su' is the code for which of the following?

a) More
b) Development
c) Focus
d) On
e) important



“focus on economic development” is written as 
“vl no py su”
“greater growth more development” is written 
as “wr ea vl om”
“more focus is important” is written as “su ta nx
ea”
“economic growth is important” is written as “ta 
py om nx”

What is the code for "growth is important"?

a) om ta py
b) om ta nx
c) wr ta nx
d) ea nx py
e) Cannot be determined



“focus on economic development” is written as 
“vl no py su”
“greater growth more development” is written 
as “wr ea vl om”
“more focus is important” is written as “su ta nx
ea”
“economic growth is important” is written as “ta 
py om nx”

What is the code for 'important'?

a) Ta
b) Py
c) Nx
d) Om
e) Cannot be determined



“focus on economic development” is written as 
“vl no py su”
“greater growth more development” is written 
as “wr ea vl om”
“more focus is important” is written as “su ta nx
ea”
“economic growth is important” is written as “ta 
py om nx”

What is the code for 'greater'?

a) Wr
b) Ea
c) Vl
d) Om
e) no



Six persons A, B, C, D, E, and F 
participated in a running race and each of 
them completed the race in different 
positions. D finished the race after only two 
other persons finished the race. F is the 
only person to finish the race before A and 
after C. E is not the first person to finish the 
race.
छह व्यक्तियों A, B, C, D, E और F  ने एक दौड़ में 
भाग क्तिया और उनमें से प्रत्येक ने अिग-अिग स्थानों 
पर दौड़ पूरी की।D ने केवि दो अन्य व्यक्तियों की दौड़ 
पूरी करने के बाद दौड़ पूरी की। F, A से पहिे और C 
के बाद दौड़ पूरी करने वािा एकमात्र व्यक्ति ह।ै E दौड़ 
पूरी करने वािा पहिा व्यक्ति नहीं ह।ै



Six persons A, B, C, D, E, and F 
participated in a running race and each of 
them completed the race in different 
positions. D finished the race after only two 
other persons finished the race. F is the 
only person to finish the race before A and 
after C. E is not the first person to finish the 
race.
_____ finished the race in 1st
_____ ने पहिे स्थान पर दौड़ पूरी की।

1) B
2) C
3) D
4) A
5) F



Six persons A, B, C, D, E, and F participated in a 
running race and each of them completed the 
race in different positions. D finished the race 
after only two other persons finished the race. F is 
the only person to finish the race before A and 
after C. E is not the first person to finish the race.
If the speed of D is 30 km/hr and the speed of B is 
50 km/hr, then what can the speed of E be?
यदद D की गक्ति 30 दकमी/घंटा ह ैऔर B की गक्ति 50 
दकमी/घंटा ह,ै िो E की गक्ति क्या हो सकिी ह?ै
1) 25 km/hr /  25 दकमी/घंटा
2) 30 km/hr /  30 दकमी/घंटा
3) 50 km/hr /  50 दकमी/घंटा
4) 45 km/hr /  45 दकमी/घंटा
5) 20 km/hr /  20 दकमी/घंटा



Six persons A, B, C, D, E, and F participated in a 
running race and each of them completed the 
race in different positions. D finished the race 
after only two other persons finished the race. F is 
the only person to finish the race before A and 
after C. E is not the first person to finish the race.
If C’s speed is 35 km/hr and the speed of the 
person who finished the race in the 1st position is 
15 km/hr more than C, what can the speed of D 
be?
यदद C की गक्ति 35 दकमी/घंटा ह ैऔर पहिे स्थान पर दौड़ 
पूरी करने वािे व्यक्ति की गक्ति C की गक्ति से 15 दकमी/घंटा 
अक्तिक ह,ै िो D की गक्ति क्या हो सकिी ह?ै
1) 40 km/hr /  40 दकमी/घंटा
2) 50 km/hr /  50 दकमी/घंटा
3) 35 km/hr /  35 दकमी/घंटा
4) 20 km/hr /  20 दकमी/घंटा
5) 10 km/hr /  10 दकमी/घंटा



How many pairs of letters are there in the word 
“YIELDERS” each of which has as many letters 
between them in the word (in the forward 
direction) as they have between them in the 
English alphabetical order?

"YIELDERS" शब्द में ऐसे दकिने अक्षरों के युग्म (आगे की 
िरफ से) हैं, क्तिनके बीच उिने ही अक्षर हैं, क्तििने अंग्रेिी 
वर्णमािा में उनके बीच हैं?

1) Three  /  िीन
2) Four  /  चार
3) One  /  एक
4) Five  /  पांच
5) Two  /  दो



Thirteen persons are sitting in a straight row 
facing north. Z is sitting between both ends. K and 
P are immediate neighbour of each other. F is an 
immediate neighbour of L and A. More than three 
persons are sitting between F and J. G sits 
immediate right of that person who is sitting on 
extreme end of the row. B sits third to the right of 
G. G is immediate neighbour of U and T. J sits 
immediate right of Q.  T is not sitting extreme end 
of the row. K is not an immediate neighbour Q. Y 
and L are immediate neighbour of each other. 
Two persons are sitting between F and B.
िेरह व्यक्ति उत्तर ददशा की ओर मुख करके एक सीिी पंक्ति में 
बैठे हैं। Z दोनों क्तसरों के बीच बैठा ह।ै K और P एक दसूरे के 
क्तनकटिम पड़ोसी हैं। F, L और A का क्तनकटिम पड़ोसी ह।ै F 
और J के बीच िीन से अक्तिक व्यक्ति बैठे हैं। G उस व्यक्ति के 
ठीक दाएँ बैठा ह ैिो पंक्ति के अंक्तिम छोर पर बैठा ह।ै B, G के 
दाएँ िीसरे स्थान पर बैठा ह।ै G, U और T का क्तनकटिम 
पड़ोसी ह।ै J, Q के ठीक दाएँ बैठा ह।ै T पंक्ति के अंक्तिम छोर 



Thirteen persons are sitting in a straight row 
facing north. Z is sitting between both ends. K and 
P are immediate neighbour of each other. F is an 
immediate neighbour of L and A. More than three 
persons are sitting between F and J. G sits 
immediate right of that person who is sitting on 
extreme end of the row. B sits third to the right of 
G. G is immediate neighbour of U and T. J sits 
immediate right of Q.  T is not sitting extreme end 
of the row. K is not an immediate neighbour Q. Y 
and L are immediate neighbour of each other. 
Two persons are sitting between F and B.
Who sits 4th to the left of A?
01. P 
02. J 
03. K 
04. B 
05. Z



Thirteen persons are sitting in a straight row 
facing north. Z is sitting between both ends. K and 
P are immediate neighbour of each other. F is an 
immediate neighbour of L and A. More than three 
persons are sitting between F and J. G sits 
immediate right of that person who is sitting on 
extreme end of the row. B sits third to the right of 
G. G is immediate neighbour of U and T. J sits 
immediate right of Q.  T is not sitting extreme end 
of the row. K is not an immediate neighbour Q. Y 
and L are immediate neighbour of each other. 
Two persons are sitting between F and B.
Who sits 3rd to the right of L?
01. K 
02. P 
03. Z 
04. Cannot be determined 
05. None of these



Thirteen persons are sitting in a straight row 
facing north. Z is sitting between both ends. K and 
P are immediate neighbour of each other. F is an 
immediate neighbour of L and A. More than three 
persons are sitting between F and J. G sits 
immediate right of that person who is sitting on 
extreme end of the row. B sits third to the right of 
G. G is immediate neighbour of U and T. J sits 
immediate right of Q.  T is not sitting extreme end 
of the row. K is not an immediate neighbour Q. Y 
and L are immediate neighbour of each other. 
Two persons are sitting between F and B.
Four of the following five are alike in a certain way 
and so form a group. Find the one which does not 
belong to that group? 
01. G 
02. J 
03. F 
04. Y



Thirteen persons are sitting in a straight row 
facing north. Z is sitting between both ends. K and 
P are immediate neighbour of each other. F is an 
immediate neighbour of L and A. More than three 
persons are sitting between F and J. G sits 
immediate right of that person who is sitting on 
extreme end of the row. B sits third to the right of 
G. G is immediate neighbour of U and T. J sits 
immediate right of Q.  T is not sitting extreme end 
of the row. K is not an immediate neighbour Q. Y 
and L are immediate neighbour of each other. 
Two persons are sitting between F and B.
How many persons sits between B and P? 
01. 5 
02. 6 
03. 4 
04. 3 
05. None of these



Thirteen persons are sitting in a straight row 
facing north. Z is sitting between both ends. K and 
P are immediate neighbour of each other. F is an 
immediate neighbour of L and A. More than three 
persons are sitting between F and J. G sits 
immediate right of that person who is sitting on 
extreme end of the row. B sits third to the right of 
G. G is immediate neighbour of U and T. J sits 
immediate right of Q.  T is not sitting extreme end 
of the row. K is not an immediate neighbour Q. Y 
and L are immediate neighbour of each other. 
Two persons are sitting between F and B.
If Q and Z interchange their positions, then who 
sits to the immediate right of P? 
01. Q 
02. T 
03. B 
04. L 
05. None of these



T is only brother of Y. L is married to 
R. P is the father of R. N is the mother 
of R. N is the daughter of Z. Z is the 
mother of Q. Q is the brother of F. L 
has only two sons. R is the mother of 
T. F is the daughter of V.
T,Y का इकिौिा भाई ह।ै L, R से क्तववाक्तहि ह।ै 
P, R का क्तपिा ह ैN, R की माँ ह।ै N, Z की बेटी 
ह।ै Z, Q की मािा ह।ै Q, F का भाई ह।ै Lके 
केवि दो बेटे ह।ै R,T की मािा ह।ै F, V की बेटी 
ह।ै



T is only brother of Y. L is married to 
R. P is the father of R. N is the mother 
of R. N is the daughter of Z. Z is the 
mother of Q. Q is the brother of F. L 
has only two sons. R is the mother of 
T. F is the daughter of V.
How N is related to T? 
01. Grandfather 
02. Grandmother 
03. Cannot be determined 
04. Grandson 
05. Granddaughter



T is only brother of Y. L is married to 
R. P is the father of R. N is the mother 
of R. N is the daughter of Z. Z is the 
mother of Q. Q is the brother of F. L 
has only two sons. R is the mother of 
T. F is the daughter of V.
How Y is related to P? 
01. Grandfather 
02. Grandmother 
03. Father 
04. Grandson 
05. Granddaughter



T is only brother of Y. L is married to 
R. P is the father of R. N is the mother 
of R. N is the daughter of Z. Z is the 
mother of Q. Q is the brother of F. L 
has only two sons. R is the mother of 
T. F is the daughter of V.
How R is related to Q? 
01. Niece 
02. Daughter 
03. Cannot be determined 
04. Nephew 
05. Aunt



Seven persons sit around a circular table. Some 
of them faces towards the centre and some of 
them faces outside the centre. J and K sit 
immediate left of each other. M sits second to the 
right of K. Two persons sit between S and M. P 
sits third to the left of L who is not immediate 
neighbour of K. Immediate neighbour of L faces 
opposite to L. Y faces the opposite direction to P. 
Immediate neighbour of Y faces opposite 
direction to each other. Not more than three 
persons face towards the centre.
साि व्यक्ति एक वृत्ताकार मेि के चारों ओर बैठिे हैं। उनमें से 
कुछ का मुख कें द्र की ओर ह ैऔर उनमें से कुछ का मुख कें द्र के 
बाहर की ओर ह.ै J और K एक दसूरे के ठीक बायें बैठे हैं। M, 
K के दायें से दसूरे स्थान पर बैठा ह।ै S और M के बीच दो 
व्यक्ति बैठे हैं। P, L के बायें से िीसरे स्थान पर बैठा ह,ै िो K 
का क्तनकटिम पड़ोसी नहीं ह।ै L के क्तनकटिम पड़ोसी का मुख L 
के क्तवपरीि ह।ै Y का मुख P के क्तवपरीि ददशा में ह।ै Y के 
क्तनकटिम पडोसी का मुख एक दसूरे के क्तवपरीि ददशा की ओर 



Seven persons sit around a circular table. Some 
of them faces towards the centre and some of 
them faces outside the centre. J and K sit 
immediate left of each other. M sits second to the 
right of K. Two persons sit between S and M. P 
sits third to the left of L who is not immediate 
neighbour of K. Immediate neighbour of L faces 
opposite to L. Y faces the opposite direction to P. 
Immediate neighbour of Y faces opposite 
direction to each other. Not more than three 
persons face towards the centre.
How many persons are faces towards outside?
01. Four 
02. Three
03. One 
04. None
05. More than four



Seven persons sit around a circular table. Some 
of them faces towards the centre and some of 
them faces outside the centre. J and K sit 
immediate left of each other. M sits second to the 
right of K. Two persons sit between S and M. P 
sits third to the left of L who is not immediate 
neighbour of K. Immediate neighbour of L faces 
opposite to L. Y faces the opposite direction to P. 
Immediate neighbour of Y faces opposite 
direction to each other. Not more than three 
persons face towards the centre.
How many persons sit between Y and K, when 
counted to the left of Y?
01. Three 
02. Two
03. One 
04. None
05. Cannot be determined



Seven persons sit around a circular table. Some 
of them faces towards the centre and some of 
them faces outside the centre. J and K sit 
immediate left of each other. M sits second to the 
right of K. Two persons sit between S and M. P 
sits third to the left of L who is not immediate 
neighbour of K. Immediate neighbour of L faces 
opposite to L. Y faces the opposite direction to P. 
Immediate neighbour of Y faces opposite 
direction to each other. Not more than three 
persons face towards the centre.
Four of the following five are alike in a certain way 
and hence form a group. Find the one that does 
not belong to the group.
01. J 
02. Y
03. S 
04. M
05. L



Seven persons sit around a circular table. Some 
of them faces towards the centre and some of 
them faces outside the centre. J and K sit 
immediate left of each other. M sits second to the 
right of K. Two persons sit between S and M. P 
sits third to the left of L who is not immediate 
neighbour of K. Immediate neighbour of L faces 
opposite to L. Y faces the opposite direction to P. 
Immediate neighbour of Y faces opposite 
direction to each other. Not more than three 
persons face towards the centre.
What is the position of K with respect to S?
01. Second to the left 
02. Fourth to the left
03. Second to the right 
04. Fifth to the left
05. Cannot be determined



Seven persons sit around a circular table. Some 
of them faces towards the centre and some of 
them faces outside the centre. J and K sit 
immediate left of each other. M sits second to the 
right of K. Two persons sit between S and M. P 
sits third to the left of L who is not immediate 
neighbour of K. Immediate neighbour of L faces 
opposite to L. Y faces the opposite direction to P. 
Immediate neighbour of Y faces opposite 
direction to each other. Not more than three 
persons face towards the centre.
S is related to ------ in the same way as P is 
related to M.
01. K 
02. J/L
03. L 
04. P
05. M



& * ^ G T 1 O 8 I B 3 T 4 7 # % 9 P L H S X 
E 2 @ V M 

Which of the following is the eighth to the 
right of the sixteenth from the left end of the 
above arrangement ? 
उपरोि व्यवस्था में बायें छोर से सोिहवें के दायें 
आठवां क्तनम्न में से कौन सा है?
01. 4
02. 2
03. O 
04. X 
05. None of these



& * ^ G T 1 O 8 I B 3 T 4 7 # % 9 P L H S X 
E 2 @ V M 

How many such numbers are there in the 
above arrangement, each of which is 
immediately preceded by a consonants and 
immediately followed by a vowel? 
उपरोि व्यवस्था में ऐसी दकिनी संख्याएं हैं क्तिनमें से 
प्रत्येक के िुरंि पहिे एक व्यंिन और िुरंि बाद एक 
स्वर ह?ै
01. None 
02. One 
03. Two
04. Three 
05. More than three



& * ^ G T 1 O 8 I B 3 T 4 7 # % 9 P L H S X 
E 2 @ V M 

How many are such symbols there in the 
above arrangement, each of which is 
immediately preceded by a letter and 
immediately followed by a number? 
उपरोि व्यवस्था में ऐसी दकिनी संख्याएं हैं क्तिनमें से 
प्रत्येक के िुरंि पहिे एक व्यंिन और िुरंि बाद एक 
स्वर ह?ै
01. None 
02. One 
03. Two 
04. Three 
05. More than three



Seven persons A, B, C, D, E, F and G are live in an 
8floor building. The lowermost floor is numbered 1, 
floor 2 is just above floor 1 and the uppermost floor 
is numbered 8. They all lived from one to eight, but 
not necessarily in the same order. There is 1 vacant 
floor. B lived on an even numbered floor, but not on 
the uppermost floor. E lived below B. The number of 
persons lived between B and E is equal to the 
number of persons between B and G. Three 
persons lived between A and B. C lived below B but 
not below A. The number of persons between F and 
E is one more than the number of persons lived 
below C. D lives on an odd numbered floor just 
above the vacant floor.
साि व्यक्ति A, B, C, D, E, F और G एक 8 मंक्तिि की इमारि 
में रहिे हैं। सबसे क्तनचिी मंक्तिि का क्रमांक 1 ह,ै मंक्तिि 2, 
मंक्तिि 1 के ठीक ऊपर ह ैऔर सबसे ऊपर की मंक्तिि का क्रमांक 
8 ह।ै वे सभी एक से आठ िक रहिे थे, िेदकन िरूरी नहीं दक 
इसी क्रम में हों। वहां 1 मंक्तिि खािी है. B सम संख्या वािी 
मंक्तिि पर रहिा है, िेदकन सबसे ऊपरी मंक्तिि पर नहीं। E, B 
के नीचे रहिा था। B और E के बीच रहने वािे व्यक्तियों की 
संख्या, B और G के बीच रहने वािे व्यक्तियों की संख्या के 
बराबर ह।ै A और B के बीच िीन व्यक्ति रहिे थे। C, B के नीचे 



Seven persons A, B, C, D, E, F and G are live in an 
8floor building. The lowermost floor is numbered 1, 
floor 2 is just above floor 1 and the uppermost floor 
is numbered 8. They all lived from one to eight, but 
not necessarily in the same order. There is 1 vacant 
floor. B lived on an even numbered floor, but not on 
the uppermost floor. E lived below B. The number of 
persons lived between B and E is equal to the 
number of persons between B and G. Three 
persons lived between A and B. C lived below B but 
not below A. The number of persons between F and 
E is one more than the number of persons lived 
below C. D lives on an odd numbered floor just 
above the vacant floor.
Who lives on fourth floor?
01. A 
02. F
03. Vacant 
04. C
05. None of these



Seven persons A, B, C, D, E, F and G are live in an 
8floor building. The lowermost floor is numbered 1, 
floor 2 is just above floor 1 and the uppermost floor 
is numbered 8. They all lived from one to eight, but 
not necessarily in the same order. There is 1 vacant 
floor. B lived on an even numbered floor, but not on 
the uppermost floor. E lived below B. The number of 
persons lived between B and E is equal to the 
number of persons between B and G. Three 
persons lived between A and B. C lived below B but 
not below A. The number of persons between F and 
E is one more than the number of persons lived 
below C. D lives on an odd numbered floor just 
above the vacant floor.
How many persons live between C and F?
01. One 
02. Three
03. Five 
04. Two
05. None of these



Seven persons A, B, C, D, E, F and G are live in an 
8floor building. The lowermost floor is numbered 1, 
floor 2 is just above floor 1 and the uppermost floor 
is numbered 8. They all lived from one to eight, but 
not necessarily in the same order. There is 1 vacant 
floor. B lived on an even numbered floor, but not on 
the uppermost floor. E lived below B. The number of 
persons lived between B and E is equal to the 
number of persons between B and G. Three 
persons lived between A and B. C lived below B but 
not below A. The number of persons between F and 
E is one more than the number of persons lived 
below C. D lives on an odd numbered floor just 
above the vacant floor.
Who lives immediate above B?
01. F 
02. G
03. D 
04. E
05. None of these



Seven persons A, B, C, D, E, F and G are live in an 
8floor building. The lowermost floor is numbered 1, 
floor 2 is just above floor 1 and the uppermost floor 
is numbered 8. They all lived from one to eight, but 
not necessarily in the same order. There is 1 vacant 
floor. B lived on an even numbered floor, but not on 
the uppermost floor. E lived below B. The number of 
persons lived between B and E is equal to the 
number of persons between B and G. Three 
persons lived between A and B. C lived below B but 
not below A. The number of persons between F and 
E is one more than the number of persons lived 
below C. D lives on an odd numbered floor just 
above the vacant floor.
Four of the following five are alike in a certain way 
based on the given arrangement and thus form a 
group. Which is the one that does not belong to that 
group?
01. G 
02. B
03. C 
04. E
05. A



Six friends H, M, N, Q, R and S are sitting around 
the circular table but not necessarily in the same 
order. Some of them are facing outside the center 
while some of them are facing towards the center. 
Each of them likes different color viz. White, 
Black, Pink, Blue, Orange and Grey, but not 
necessarily in the same order. S sits second to 
the left of R. N sits opposite to the one who likes 
Blue. Q faces outside the center and doesn’t like 
Black. H doesn’t like White and facing opposite 
direction to N. H sits immediate right of N, who 
doesn’t like Blue. Two people sits between H and 
the one who likes Orange. The one who likes 
White is not an immediate neighbor of R. The one 
who sits second to the right of Q likes Orange. 
The one who likes pink sits opposite to M. Neither 
S nor N likes White. The one who likes grey sits 
second to the left of the one who likes White. S 
faces same direction as M but opposite to Q.



छह क्तमत्र H, M, N, Q, R और S एक वृत्ताकार मेि के चारों 
ओर बैठे हैं िेदकन आवश्यक नहीं इसी क्रम में हों। उनमें से कुछ 
कें द्र से बाहर की ओर उन्मुख हैं िबदक उनमें से कुछ कें द्र की 
ओर उन्मुख हैं। उनमें से प्रत्येक को अिग-अिग रंग पसंद ह ै
अथाणि। सफेद, कािा, गुिाबी, नीिा, नारंगी और ग्रे, िेदकन 
िरूरी नहीं दक इसी क्रम में हो। S, R के बायें से दसूरे स्थान 
पर बैठा ह।ै N नीिा रंग पसंद करने वािे व्यक्ति के क्तवपरीि 
बैठा ह।ै Q का मुख कें द्र से बाहर की ओर ह ैऔर उसे कािा रंग 
पसंद नहीं ह।ै H को सफेद रंग पसंद नहीं ह ैऔर उसका मुख N 
के क्तवपरीि ददशा की ओर ह।ै H, N के ठीक दायें बैठा ह,ै िो 
नीिा रंग पसंद नहीं करिा ह।ै H और संिरा पसंद करने वािे 
व्यक्ति के मध्य दो व्यक्ति बैठे हैं। वह व्यक्ति क्तिसे सफेद रंग पसंद 
ह ैवह R का क्तनकटिम पडोसी नहीं है. वह व्यक्ति िो Q के दायें 
से दसूरे स्थान पर बैठा ह ैउसे संिरा पसंद है. गुिाबी रंग पसंद 
करने वािा व्यक्ति M के क्तवपरीि बैठा ह।ै न िो S न ही N को 
सफेद रंग पसंद ह।ै वह व्यक्ति क्तिसे स्िेटी रंग पसंद ह ैवह सफेद 
रंग पसंद करने वािे व्यक्ति के बायें से दसूरे स्थान पर बैठा ह।ै 
S, M के समान ददशा की ओर उन्मुख ह ैिेदकन Q के क्तवपरीि 
ह।ै



S sits second to the left of R. N sits opposite to 
the one who likes Blue. Q faces outside the 
center and doesn’t like Black. H doesn’t like White 
and facing opposite direction to N. H sits 
immediate right of N, who doesn’t like Blue. Two 
people sits between H and the one who likes 
Orange. The one who likes White is not an 
immediate neighbor of R. The one who sits 
second to the right of Q likes Orange. The one 
who likes pink sits opposite to M. Neither S nor N 
likes White. The one who likes grey sits second to 
the left of the one who likes White. S faces same 
direction as M but opposite to Q.
Who among the following person sits to the 
immediate left of M?
(a) H
(b) R
(c) S
(d) Q
(e) N



S sits second to the left of R. N sits opposite to 
the one who likes Blue. Q faces outside the 
center and doesn’t like Black. H doesn’t like White 
and facing opposite direction to N. H sits 
immediate right of N, who doesn’t like Blue. Two 
people sits between H and the one who likes 
Orange. The one who likes White is not an 
immediate neighbor of R. The one who sits 
second to the right of Q likes Orange. The one 
who likes pink sits opposite to M. Neither S nor N 
likes White. The one who likes grey sits second to 
the left of the one who likes White. S faces same 
direction as M but opposite to Q.
Which of the following color is liked by R?
(a) Grey
(b) Black
(c) De-Milano
(d) Orange
(e) Blue



S sits second to the left of R. N sits opposite to 
the one who likes Blue. Q faces outside the 
center and doesn’t like Black. H doesn’t like White 
and facing opposite direction to N. H sits 
immediate right of N, who doesn’t like Blue. Two 
people sits between H and the one who likes 
Orange. The one who likes White is not an 
immediate neighbor of R. The one who sits 
second to the right of Q likes Orange. The one 
who likes pink sits opposite to M. Neither S nor N 
likes White. The one who likes grey sits second to 
the left of the one who likes White. S faces same 
direction as M but opposite to Q.
Which of the following combinations of “Person –
Color” is true?
(a) N - Black
(b) S - Pink
(c) Q- Orange
(d) N – Grey
(e) R- Pink



S sits second to the left of R. N sits opposite to 
the one who likes Blue. Q faces outside the 
center and doesn’t like Black. H doesn’t like White 
and facing opposite direction to N. H sits 
immediate right of N, who doesn’t like Blue. Two 
people sits between H and the one who likes 
Orange. The one who likes White is not an 
immediate neighbor of R. The one who sits 
second to the right of Q likes Orange. The one 
who likes pink sits opposite to M. Neither S nor N 
likes White. The one who likes grey sits second to 
the left of the one who likes White. S faces same 
direction as M but opposite to Q.
How many persons sits between Q and R when 
counted in clock-wise direction from Q?
(a) Three
(b) Two
(c) One
(d) More than three
(e) None



S sits second to the left of R. N sits opposite to 
the one who likes Blue. Q faces outside the 
center and doesn’t like Black. H doesn’t like White 
and facing opposite direction to N. H sits 
immediate right of N, who doesn’t like Blue. Two 
people sits between H and the one who likes 
Orange. The one who likes White is not an 
immediate neighbor of R. The one who sits 
second to the right of Q likes Orange. The one 
who likes pink sits opposite to M. Neither S nor N 
likes White. The one who likes grey sits second to 
the left of the one who likes White. S faces same 
direction as M but opposite to Q.
Who among the following faces outside the
center?
(a) S
(b) M
(c) N
(d) H
(e) None of these



In a certain code language,  
‘GOOD GOT DOG’ is written as ‘P2D B2D 
S3E’,  
‘BUT GREAT DEAL’ is written as  ‘C3D 
K3E D4F’,  
‘NOT GOT GREAT’ is written as ‘K3E B2D 
R5T’ and  
‘WHAT GOOD DEAL’ is written as ‘H8U 
C3D P2D’. Then...
What is the code for ‘GOT’ in the given 
code language? 
दी गयी कोड भाषा में 'GOT' के क्तिए क्या कोड ह?ै
01. P2D 
02. B2D 
03. R5T 
04. K3E 
05. H8U



In a certain code language,  
‘GOOD GOT DOG’ is written as ‘P2D B2D 
S3E’,  
‘BUT GREAT DEAL’ is written as  ‘C3D 
K3E D4F’,  
‘NOT GOT GREAT’ is written as ‘K3E B2D 
R5T’ and  
‘WHAT GOOD DEAL’ is written as ‘H8U 
C3D P2D’. Then...
What is the code for ‘GREAT’ in the given 
code language? 
दी गयी कोड भाषा में 'GREAT' के क्तिए क्या कोड 
ह?ै
01. R5T 
02. K3E 
03. D4F
04. E3K



In a certain code language,  
‘GOOD GOT DOG’ is written as ‘P2D B2D 
S3E’,  
‘BUT GREAT DEAL’ is written as  ‘C3D 
K3E D4F’,  
‘NOT GOT GREAT’ is written as ‘K3E B2D 
R5T’ and  
‘WHAT GOOD DEAL’ is written as ‘H8U 
C3D P2D’. Then...
What is the code for ‘WHAT’ in the given 
code language? 
दी गयी कोड भाषा में WHAT' के क्तिए क्या कोड ह?ै
01. R5T
02. P2D 
03. S3E 
04. C3D 
05. H8U



In a certain code language,  
‘GOOD GOT DOG’ is written as ‘P2D B2D 
S3E’,  
‘BUT GREAT DEAL’ is written as  ‘C3D 
K3E D4F’,  
‘NOT GOT GREAT’ is written as ‘K3E B2D 
R5T’ and  
‘WHAT GOOD DEAL’ is written as ‘H8U 
C3D P2D’. Then...
What is the code for ‘BUT’ in the given 
code language? 
दी गयी कोड भाषा में 'BUT' के क्तिए क्या कोड ह?ै
01. D4F 
02. C3D 
03. R5T 
04. K3E 
05. H8U






